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1 Introduction
We have noticed some specific scenarios where UE reports event 1D (e1D) while total active set member is just one. That is, the UE declares the lone PSC as the best cell in Measurement Report. This can happen due to differences in TTTs or other measurement related parameters. Note that such behavior is compliant with current specification.
The purpose of this paper is to discuss if it’s necessary to allow the UE to report such measurement from the lone cell in the active set.
2 A scenario where e1D with lone cell can happen
Please consider the following scenario pictured in the next page:

· A UE is traveling at cell edge from PSC1 towards PSC2 along the line ABCD.

· At point A, UE is in 2-way SHO and PSC1 is its best (Serving) cell. The intra-frequency measurements like e1a/e1b/e1c/e1d etc. are configured.

· Since the UE is moving away from PSC1 toward PSC2, at some points (but not necessarily simultaneously, for sure) TTT for E1b and e1D will be triggered.

· At point B, UE reports MRM for E1b, while TTT for e1D is still running.

· At point C, UE gets ASU message to remove PSC1. The ASU procedure completes successfully.

· Now at point D, the TTT for e1D expires, accordingly UE reports MRM for e1D. Accordingly, UE changes the value of internal variable “best cell” to PSC 2. 
There could be other scenarios where the lone cell triggers e1D report.
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3 Spec Reference
In 14.1.2.4 of 25.331, the only requirement for the lone cell in the active set is for e1D setup, i.e. if there is only one cell in the active set when e1D is setup, the UE is not required to report e1D. However, for the subsequent measurement reports, e1D is required when the best cell has changed, regardless if this cell is the lone cell in the current active set.
Quoted from 25.331:
“14.1.2.4 Reporting event 1D: Change of best cell
When an intra-frequency measurement configuring event 1d is set up, the UE shall:
1> create a variable TRIGGERED_1D_EVENT related to that measurement, which shall initially contain the best cell in the active set when the measurement is initiated;

1> delete this variable when the measurement is released.

1>  As soon as the best cell in the active set has been evaluated by the UE (and stored in the TRIGGERED_1D_EVENT variable) and provided that there is more than one cell in the active set,  trigger an immediate measurement report with IEs set as below:

2>  set in "intra-frequency measurement event results"; "Intrafrequency event identity" to "1d" and "cell measurement event results" to the CPICH info of the primary CPICH stored in the TRIGGERED_1D_EVENT variable;

2>  set the IE "measured results" and the IE "additional measured results", and the IE "measured results on secondary UL frequency" and the IE "additional measured results on secondary UL frequency" according to subclause 8.4.2

When event 1D is configured in the UE, the UE shall:

1>  if IE "useCIO" is present and its value is TRUE, take into account the Cell Individual Offset for evaluation of the Equation 1 and 2, otherwise do not take it into account.
1>  if "Measurement quantity" is "pathloss" and Equation 1 below is fulfilled for a primary CPICH that is not stored in "Best cell" in variable BEST_CELL_1D_EVENT, or if "Measurement quantity" is "CPICH Ec/N0" or "CPICH RSCP", and Equation 2 below is fulfilled for a primary CPICH that is not stored in "Best cell" in variable BEST_CELL_1D_EVENT:

NOTE:      If the equations are simultaneously fulfilled for more than one primary CPICH, the UE should report only one event 1D, triggered by the best primary CPICH.

2>  if all required reporting quantities are available for that cell, and if the equations have been fulfilled for a time period indicated by "Time to trigger" and if IE "Triggering condition 2" is absent or if it is present and that primary CPICH is part of cells allowed to trigger the event according to "Triggering condition 2":

3>  set "best cell" in the variable BEST_CELL_1D_EVENT to that primary CPICH that triggered the event;

3>  send a measurement report with IEs set as below:

4>  set in "intra-frequency measurement event results"; "Intrafrequency event identity" to "1d" and "cell measurement event results" to the CPICH info of the primary CPICH that triggered the report.

4>  set the IE "measured results" and the IE "additional measured results", and the IE "measured results on secondary UL frequency" and the IE "additional measured results on secondary UL frequency" according to subclause 8.4.2.

This event is only applicable to the CELL_DCH state. Upon transition to CELL_DCH the UE shall: 

1> set "best cell" in the variable BEST_CELL_1D_EVENT to the best cell of the primary CPICHs included in the active set.

Equation 1 (Triggering condition for pathloss):

:::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::”

4 Conclusion
Since there is no other cells in the active set, we believe any extra SRB traffic can make the call potentially vulnerable. This is applicable for both SRB over R99 and SRB over HS channels. In our opinion, the network is already having all communications with UE through the lone cell (PSC2 in the example). There may not be any extra benefits to allow the UE to trigger e1D. To optimize this issue, we have the following proposal:
Proposal 1: RAN2 to discuss if e1D report from the lone cell is necessary.

Proposal 2: the UE is not required to report e1D on the lone cell in the active set.

1/3


_1477219005.vsd

